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ENGLISH VERSION

Instruction : All the questions are compulsory.
1 (@) Explain : Theory of Run 8
() Draw X and R charts. 12
X [37143]4041(38[39](40]|41([39]40
R4 |6 |88 ]10[6 (144 ] 6 |12
(n=4,4,=0729, Dy=0, D, =228
OR
1 (a) Difference : 10
(1) ‘np’ and ‘P’ chart.
(2) Variable and attribute charts.
(b) Draw ‘np’ chart : 10
No. 1 2 3 4 5 6 7 8 9 10 | 11 | 12
Size 500 [ 500 | 500 | 500 [ 500 | 500 | 500 [ 500 | 500 [ 500 [ 500 | 500
No. of Defective | 9 10 | 12 8 17 | 15 | 10 | 12 | 10 8 7 13
2 (a) Explain : Components of Time Series. 10
®) Fit y=a+bx and est. profit for the year '98. 10
Year ['92 ['93 ['94 ['95 ['96
Profit | 40 | 50 | 62 | 58 | 60
OR
2 (@) What is input-output anlaysis ? State its assumptions. 8
(b) Fit y:aerercx2 to the data. 12
Year | '90 | '91 |'92 | '93 |'94 | '95
Prod. [ 100 | 107 {128 {140 | 181|192
3  Explain in brief : 15
(1) Demand and Demand Rule.
(2) Elasticity of demand and its uses.
(3) Monopoly.
OR
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3 (@) Find equilibrium price and demand if
Demand : D:x=130-4p

2
X x
Supply : P=10+—+—
PPy 5 100
(b) Distinguish demand and supply function.
D x=100—4p @  x=(10+p)*
60—

@) x= 2p @ x=50+4p

4  Explain :
(1) Production function.
(2) Average and Marginal production functions.
(3) Homogeneous prod. function.
OR

. . 1 1
4 (a) If Prodn. function is z=10—-—-— and cost of x, y, z
Xy

per unit are 4, 5, 9. Find Max. profit.
(b) The utility function of a consumer is
a=f(x,y)=108—(x- 6)2 -2(y- 6)2 and his budget

equation is 3x+4y=25. Find x, y for max. profit.
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